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次の文章を読み、 以下の問い（問1 ,,.,,_, 4)に答えよ。

新たな感染症が地域間に伝播する過程を予測することは、地球科学的問題でもある。そこで、

まず閉じられた地域内における感染症流行の推移をモデル化するSIRモデルを検討する。 (a)�

のモデルでは、 感染者数はまず増加するが、 人々が感染して免疫を獲得すると、 その後減少す

ゑ。 このSIRモデルの内容は次のとおりである。

The SIR model is a model for the number of people infected with an infectious disease in a closed 

population over time. It was proposed to explain the rapid rise and fall in the number of infected patients. 

The model assumes that the population size is fixed (in another words, no births, deaths due to disease, 

or deaths by natural causes), incubation period of the infectious agent is instantaneous, and duration of 

infectivity is same as length of the disease. It also assumes a completely homogeneous population with no 

age, spatial, or social structure. 

The model consists of a system of three coupled nonlinear ordinary differential equations, 

d S(t) -S(t) = -b ― 

dt N 
I(t) 

d S(t) -l(t) = b — I(t) - kl(t)
dt N 

d -R(t) = kl(t)
dt 

(1) 

(2) 

(3) 

where t is time, S (t) is the number of susceptible people, I (t) is the number of people infected and 

infectious, R (t) is the number of people who have recovered and developed iinmunity to the infection, N 

is the population size and N = S (t) + I (t) + R (t), b is the infection rate, and k is the recove1y rate. 

(Adapted from "Kermack-McKendrick Model" of Created,developed, and nurtured by Eric Weisstein 

at Wolfram Research,MathWorld , Copyright© 1999-2021 Wolfram Research, Inc.https://

mathworld.wolfram.com/about/terms.html 一部改変)

（参考）

infectious: 伝染性の、 感染させうる

incubation period: 潜伏期間

infectivity: 感染させる能力

infected: 感染させられた

infectious agent: 病原体

homogeneous: 均質な

nonline紅 ordinmy differential equations: 非線形常微分方程式

susceptible: 感染しうる iimnunity: 免疫















Note: *1sterile; An adjective that means devoid of life. *2germ; Any one-celled 

microorganism, such as a bacterium, fungal species or virus particle. *3Chlorine; A 

chemical element with the scientific symbol Cl. *4potassium; A chemical element with the 

scientific symbol K. 

(Adapted from "Scientists know that you pee in the pool" by Sid Perkins,Science News, Society 

for Science & the Public. Copyright © Society for Science & thePublic 2000–2021. All rights 

reserved. 一部改変）

問 1 [三□］～□互口に入る適切な語句を以下より選べ。ただし，以下の語句は
複数回使用してよい。
For instance, However, In short, In the end, Moreover, Otherwise, Then, Therefore 

問2下線部(a)を英訳せよ。

問 3 下線部(b)を和訳せよ。

問 4 本文中の情報をもとに，[A]と[ B]に入る数値をそれぞれ答えよ。ただし，
有効数字は2桁とし，プール中の尿の容量は無視するものとする。

問 5 下線部(c)について，その理由を日本語で述べよ。

問 6 下線部(d)について，以下の問いに答えよ。
1) The team's approach とは何を指すか，日本語で述べよ。
2) Escher がそれを a pretty cool idea だと評した理由を 50 字程度で述べよ。

問 7 下線部(e) について，以下の問いに答えよ。
1) Self-control とは何を指すか，日本語で述べよ。
2) Self-control が行われない結果，人体に健康被害が生じる理由を 50 字程度で述
べよ。








